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Math 130, Day 9. Hand in Next Class. Name: 4):,\ gt <

1. a) Page 108 #12. Give the FIRST reason from the continuit
is not continuous.

y checklist that fails for each of the points where f(z)
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b) Now do page 109 #38. (See the answers to /#37 for a similar problem.) Your answer should be a set
starting at 0 and ending at 5.
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2. a) Use the graph and the definitions to to fill in the table.
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b) Complete the graph so that [ is continuous from the RIGHT at £ = —2 but NOT from the LEFT
K= dx &
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4. Page 109 #24. Use the theorem the text suggests. (There should be no limit calculations.) Give your answer as a
set of intervals.
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. Evaluate these limits. Be careful. Use proper limit grammar.
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c) Is the function above continuous at = 2? Or does it have an RD or a VA? Explain using the appropriate
definition. v
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’+ar+1, ifz<3
7. Remember to use the definitions and appropriate limits. Let f(z) = { [;’2 3z ifzr=3
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a) Determine a value of b that makes f (z) RIGHT continuous at z = 3. Explain.
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b) Now that you know the value of b, determine a value of g that makes f(z)
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LEFT continuous at z = 3. Explain.
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